Compute the delta,
taking into account the

overflow.
ReceivedCounter >= State-
>LastValidCounter
DeltaCounter = DeltaCounter = 15 +
ReceivedCounter - State- ReceivedCounter - State-

>LastValidCounter >LastValidCounter
The previous and the
current data have
correct CRC, verify the
counter.

[FALSE] [FALSE]
DeltaCounter DeltaCounter > State-
== >MaxDeltaCounter
[TRUE] [TRUE]
E2E_PO01_process_NoNewOrRepeatedDataCounter E2E_PO01_handle_wrongSequence returnvalue =
oo ~c E2E_P01_handIe_ok_and_olGomeLosto_o

returnvalue =

returnvalue = E2E_PO1STATUS_REPEATED ] E2E_PO1STATUS WRONGSEQUENCE

return
returnvalue



